* Fractions

Write the answer in the box.

1 1

d .1 _ 3 L _
12+4 122 + 3 6

2 2

Write the answer in the box.

2%+1%= 1%+1%= 1%+ %z
3o+ 1 = 3%+1%= z%+ 4 =
4%+1%: 24+ 14 = 5 +1— =
3%+1%= 2+3%= 7+%:
3+%= 4%+%= 5+4%=
Write the answer in the box.
I 124 - 35+ 45 = 124 5=
3%+ 2 = 4%+1%: 2%+1%=
1%4—1%: 4%+271: 3 +2%:
6 +2%= 2%+3%= 3%+171:
52 422 - 7+ 5 = e
Write the answer in the box.
2 d a1k sk 2 I e
3 435 - 4 124 - 52 41+ -
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* Fractions

Write the answer in the box.

1%+%: 2 z%+3% = 6 1%+z%= 352
Werite the answer in the box.
Al =37 1414 = 3 14+ = I3
3L+ 1 =41 311l -4z 241w 4= 6l
4%+1%= 5% 2%4‘1%: 4 5 +1%= 6%
3%“%:4% 2 +30 = 5% 1+ 4= 7L
3+ %=5i 4%+ %=4i 5+4%= 97
Write the answer in the box.
I+ +24 =32 3 14> _ 8 1244 5 - 6%
3%+ 2=5% 471+1%= 6 2%+1%= 4%
R IR R EE I I REE
6 +2+ =82 211 433 - 6 3415 - 4%
s i1 -8l 7+ 5= 7k 224522 el
Write the answer in the box.
2%+ %:4% 3%+2%=5% 1%+ 6 = 7%
R LTINS

It is technically correct if children add + and +
to get =, but they should be encouraged to simplify this as % Some children
may not simplify improper fractions that are part of a mixed number (such as

3%). Show them how to do this.
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